A

AP T

LED Upgrade Kit Installation Guide
Fixture: PROB’- PROVIDENCE BOLLARD

WARNING: Fixtures must be grounded in accordance with local codes or the National Electrical
Code. Failure to do so may result in serious personal injury.

MAINTENANCE: A regularly scheduled maintenance program should be established to retain optimum light
output and reduce heat retention. Dusting with a soft, clean, dry cloth is normally sufficient for the optics.

CAUTION: All wiring must be done by a qualified electrician. KEEP THIS SHEET FOR FUTURE REFERENCE.

Examine all parts that are not intended to be replaced by the retrofit kit for damage and replace any
damaged parts prior to installation of the retrofit kit.

Examinez toutes les parties qui ne sont pas destinés a étre remplacé par le kit d'adaptation pour les
dommages et remplacer les pieces endommagées avant l'installation du kit de renovation.

UPGRADE KIT CONTENTS

WSHR-No. 10 SPLIT LK SS

SCR-10-24x3/4 PHH PHMS SS

CONN-WAGO 2-WIRE 222-412

LED DRIVER STRAP ASSEMBLY

= I N|W|H |0

= | =1 |N|N

LED RETRO-FIT OPTICAL ASSEMBLY

ITEM #

QTY

DESCRIPTION

Current®

currentlighting.com/aal Page 10f 6

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change without Rev 09/01/22

notice. All values are design or typical values when measured under laboratory conditions. is_providence_bollard_R01



Ty,
archllte(r:‘ttl_lral (A i
arealigniing A——T15
=
LED Upgrade Kit Installation Guide el
Fixture: PROB’- PROVIDENCE BOLLARD

A TURN OFF ALL POWER TO THE UNIT AND TAKE PROPER SAFETY PRECAUTIONS. FAILURE TO
DO SO MAY RESULT IN SERIOUS PERSONAL INJURY.

STEPS: TO DIS-ASSEMBLE EXISTING ASSEMBLY:

ACCESS TOP DOME COMPARTMENT
1. TURN OFF POWER.

2. LOOSEN CAPTIVE SCREW AND LIFT TOP DOME
TO ACCESS DOME COMPARTMENT.
3. REMOVE EXISTING OPTICAL SYSTEM IN THE w (GR‘E%A'\"P

FIXTURE DOME AND DISCARD.

ACCESS DRIVER COMPARTMENT

1. TURN OFF POWER.

2. REMOVE 3X 5/16-18 X 3/8" SET SCREWS AND
REMOVE FIXTURE HEAD ASSEMBLY TO ACCESS
DRIVER COMPARMENT.

3. REMOVE DRIVER ASSEMBLY FROM BOTTOM
FITTER BY LOOSENING 2X 8-32 SCREWS AND
TWIST COUNTER CLOCKWISE. PULL IT OUT AND
DISCONNECT WIRES AND DISCARD

CAPTIVE
SCREW

FIXTURE HEAD
ASSEMBLY

BOTTOM FITTER

E\ 2X 8-32 SCREWS

BALLAST
PLATE
SUPPORT |
[~ ———DRIVER
ASSEMBLY
(REF)

3X 5/16-18x3/8" ——a g
SET SCREWS

. BODY - FL (OPTION)
FLUTED SHOWN
(REF)

Cu rrent ‘a’ currentlighting.com/aal Page 2 of 6

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change without Rev 09/01/22
notice. All values are design or typical values when measured under laboratory conditions. is_providence_bollard_R01



architectural
arealighting

p‘-—-

Il,,,/‘

LED Upgrade Kit Installation Guide
Fixture: PROB"- PROVIDENCE BOLLARD

STEPS: TO RETROFIT 32YLED

1. REMOVE SCREWS ON EACH SIDE IN LOCATION "A" AND "B". ASSEMBLED LED RETROFIT OPTICAL ASSEMBLY
WITH TWO NEW PROVIDED 10-24 SCREWS AND TWO WASHERS AS SHOWN IN THE ILLUSTRATIONS BELOW.

2. TO ASSEMBLE LED DRIVER STRAP ASSEMBLY, FIRST MAKE WIRE CONNECTIONS FROM THE CONDUIT TO LED
DRIVER (SEE pg. 6) THEN BY USING TWO 8-32 SCREWS FROM THE BOTTOM FITTER ASSEMBLE LED DRIVER
STRAP ASSEMBLY AND SLIGHLY TWIST CLOCKWISE AND TIGHTEN TWO SCREW.

3. MAKE WIRE CONNECTIONS. FOR WIRING DIAGRAM SEE pg. 6.
4. TURN ON POWER AND CHECK FOR OPERATION.

5. CLOSE TOP DOME AND SECURE WITH CAPTIVE SCREW. RETURN FIXTURE HEAD ASSEMBLY/LED DRIVER STRAP
ASSEMBLY TO BODY ASSEMBLY AND SECURE WITH 3X 5/16-18 x 3/8" SET SCREWS.

6. RETROFIT IS COMPLETE. ITEM#4

2X AB4252
SCR-10-24x3/4
PHH PHMS SS

ITEM#1
LED RETRO-FIT

OPTICAL ASSEMBLY ITEM#5

2X A84337

WSHR-NO. 10
SPLIT LK SS
FIXTURE HEAD
ASSEMBLY
TOP DOME BOTTOM
FITTER
LOCATION "A"

2X 8-32 SCREWS

ITEM#2
LED DRIVER
STRAP ASSEMBLY

NOTE:
LITTLE FUSE

LOCATION "B" MUST BE ON NOTE:
THIS SIDE. MOST WIRES ARE
T NOT SHOWN FOR
N | CLARITY
CAPTIVE SCREW X sr16- 16—
SET SCREWS

= i i P 30f6
Current@ currentlighting.com/aa I | Rev 0301122

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change without
notice. All values are design or typical values when measured under laboratory conditions. is_providence_bollard_R01




P i

fnsnsasnnandy,

At N
A

architectural
arealighting

LED Upgrade Kit Installation Guide

Fixture: PROB’- PM - PROVIDENCE BOLLARD SEMI RECESSED PIER MOUNT

A TURN OFF ALL POWER TO THE UNIT AND TAKE PROPER SAFETY PRECAUTIONS. FAILURE TO
DO SO MAY RESULT IN SERIOUS PERSONAL INJURY.

STEPS: TO DIS-ASSEMBLE EXISTING ASSEMBLY: TOP DOME

ACCESS TOP DOME COMPARTMENT

1. TURN OFF POWER.

2. LOOSEN CAPTIVE SCREW AND LIFT TOP DOME
TO ACCESS DOME COMPARTMENT.

3. REMOVE EXISTING OPTICAL SYSTEM IN THE
FIXTURE DOME AND DISCARD.

G12 LAMP

Vs

ACCESS DRIVER COMPARTMENT

1. TURN OFF POWER.

2. REMOVE 3X 5/16-18 X 3/8" SET SCREWS AND
REMOVE FIXTURE HEAD ASSEMBLY TO ACCESS
DRIVER COMPARMENT.

3. REMOVE DRIVER ASSEMBLY FROM BOTTOM
FITTER BY LOOSENING 2X 8-32 SCREWS AND
TWIST COUNTER CLOCKWISE. PULL IT OUT AND
DISCONNECT WIRES AND DISCARD

CAPTIVE
SCREW

FIXTURE HEAD
ASSEMBLY

BOTTOM FITTER

\ 2X 8-32 SCREWS

BALLAST
PLATE
SUPPORT J
DRIVER
ASSEMBLY
(REF)

3X 5/16-18x3/8"
SET SCREWS

BASE COVER

Cu rrent ‘a’ currentlighting.com/aal Page 4 of 6

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change without Rev 09/01/22
notice. All values are design or typical values when measured under laboratory conditions. is_providence_bollard_R01



architectural
arealighting

EOOOR,

LED Upgrade Kit Installation Guide
Fixture: PROB™- PM - PROVIDENCE BOLLARD SEMI RECESSED PIER MOUNT

STEPS: TO RETROFIT 32YLED

1. REMOVE SCREWS ON EACH SIDE IN LOCATION "A" AND "B". ASSEMBLED LED RETROFIT OPTICAL ASSEMBLY
WITH TWO NEW PROVIDED 10-24 SCREWS AND TWO WASHERS AS SHOWN IN THE ILLUSTRATIONS BELOW.

2. TO ASSEMBLE LED DRIVER STRAP ASSEMBLY, FIRST MAKE WIRE CONNECTIONS FROM THE CONDUIT TO LED
DRIVER (SEE pg. 6) THEN BY USING TWO 8-32 SCREWS FROM THE BOTTOM FITTER ASSEMBLE LED DRIVER
STRAP ASSEMBLY AND SLIGHLY TWIST CLOCKWISE AND TIGHTEN TWO SCREW.

3. MAKE WIRE CONNECTIONS. FOR WIRING DIAGRAM SEE pg. 6.

4. TURN ON POWER AND CHECK FOR OPERATION.

5. CLOSE TOP DOME AND SECURE WITH CAPTIVE SCREW. RETURN FIXTURE HEAD ASSEMBLY/LED DRIVER STRAP
ASSEMBLY TO BODY ASSEMBLY AND SECURE WITH 3X 5/16-18 x 3/8" SET SCREWS.

6. RETROFIT IS COMPLETE.

ITEM#4
2X AB4252

SCR-10-24x3/4
PHH PHMS SS

ITEM#1
LED RETRO-FIT

OPTICAL ASSEMBLY ITEM#5

2X A84337
WSHR-NO. 10
SPLIT LK SS

FIXTURE HEAD
ASSEMBLY

BOTTOM

TOP DOME FITTER

2X 8-32 SCREWS

LOCATION "A"
ITEM#2

LED DRIVER
STRAP ASSEMBLY
NOTE:
Py MOST WIRES ARE
NOTE: NOT SHOWN FOR
LITTLE FUSE CLARITY
MUST BE ON
THIS SIDE. |

CAPTIVE SCREW Q

3X 5/16-18x3/8"
SET SCREWS

— iahti Page 5 of 6
Current ‘Q’ currentlighting.com/aal Rej?):/O‘(I)/ZZ

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change without
notice. All values are design or typical values when measured under laboratory conditions. is_providence_bollard_R01



architectural
arealighting

IOy

4 ,,.:“
( cx

LED Upgrade Kit Installation Guide
Fixture: PROB’- PROVIDENCE BOLLARD

WIRING DIAGRAM

JLYELLOW +)

BROWN (-)

WHITE (+)
%LPINK e
ITEM#3

6X 93035846
CONN-WAGO
2-WIRE 222-412

——_PINK —3
BROWN

BLUE

[—BLACK

REE|

YELLOW.

uuuuuu

BOND TO CAST
BOTTOM DOME

5 CABLE
CONDUCTOR

BLACK

PINK

BLUE:

BROWN
YELLOW/GREEN

BOND TO BRKT-PLT j

]

GREEN

=+
BOND TO CAST —/
TOP DOME

e
illl;

A
1]

PURPLE

PINK

SURGE PROTECTOR o
PROB-PM e
E;
2S
o3
[+
j 8
GROUND TO BRKT-PLT
SURGE PROTECTOR

PROB-PM

4§.
m

BLACK—@— BLACK
WHITE —e— WHITE

-

Littlefuse

=

PINK
PURPLE

PROB - FL
EXTRUDED FLUTED BODY
DRAWING SHOWN
(REFERENCE)

_ ;L]
PROS oM | ™~ BOND TO BRKT-PLT
FINF?ELFQE‘SEE%ELY LEAD SURGE PROTECTOR
( ) WIRES PROB-PM
= currentlighting.com/aal Page 6 of 6
Current@ ghting

© 2022 HLI Solutions, Inc. All rights reserved. Information and
notice. All values are design or typical values when measured

specifications subject to change without

under laboratory conditions. is_providence_bollard_R01



